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QUESTION 1

A network administrator has been asked to add another heartbeat to a two node cluster. The administrator has installed
the new NIC and needs to add it to the cluster. Which step should the administrator take after launching the Cluster
Configuration Wizard?

A. navigate to the Edit Cluster Options page, then select Reconfigure

B. navigate to the Edit Cluster Options page, then select change private heartbeat links

C. navigate to the Edit Cluster Options page, then select configure LLT over Ethernet

D. navigate to the Edit Cluster Options page, then select configure LLT over UDP

Correct Answer: A

QUESTION 2

How does Veritas Storage Foundation for Windows benefit multi-vendor storage environments?
A. It dynamically provisions LUNs from dissimilar storage arrays.

B. It provides hardware-based snapshots across dissimilar arrays.

C. It reduces complexity and utilization across dissimilar arrays.

D. It allows online migration of data across dissimilar storage.

Correct Answer: D

QUESTION 3

What are two advantages of a concatenated volume layout? (Select two.)
A. removes size restrictions

B. provides load balancing

C. optimizes utilization of free space

D. improves write performance

E. provides redundancy

Correct Answer: AC

QUESTION 4

A disk in a Dynamic disk group shows a status of Failing. What is the likely cause of the condition?
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A. The disk is corrupted.

B. The disk is experiencing hardware errors.
C. The disk is unrecognized by the system.
D. The disk is experiencing 1/O errors.

Correct Answer: D

QUESTION 5

What is the default SCSI protocol setting in Veritas Storage Foundation for Windows when a Microsoft Failover cluster is
installed in a Windows Server 20087

A.iSCSI

B. SCSI-1
C. SCsI-2
D. SCSI-3

Correct Answer: D
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